



नाम: _____

दिनांक: _____ स्कोर: _____

$$(2 + \frac{1}{2})^2 - \frac{1}{2} + \frac{1}{6} - 4^2 =$$

$$(\frac{1}{2} - (\frac{1}{3})^2) \times \frac{3}{5} + (\frac{1}{5} - \frac{1}{2})^2 =$$

$$((\frac{1}{2})^2 - \frac{1}{3}) \times \frac{2}{5} + (\frac{3}{2} + \frac{2}{3})^2 =$$

$$(\frac{1}{3} - (\frac{3}{2})^2) \times \frac{3}{4} - (\frac{2}{3} + \frac{1}{2})^2 =$$

$$((\frac{1}{4})^2 + \frac{2}{3}) \times \frac{1}{5} + (\frac{1}{3} - \frac{1}{2})^2 =$$

$$(5 - \frac{1}{5})^2 - \frac{1}{4} - \frac{3}{4} - 4^2 =$$

$$(4 + \frac{3}{2})^2 + \frac{1}{3} + 3^2 \times \frac{3}{2} =$$

$$(5 + \frac{1}{2})^2 + \frac{2}{3} \times \frac{1}{2} \times 2^2 =$$

$$(\frac{3}{4} - \frac{3}{2})^2 + \frac{1}{3}(\frac{1}{3} + (\frac{1}{2})^2) =$$

$$((\frac{1}{3})^2 + \frac{1}{3}) \times \frac{1}{2} + (\frac{3}{4} - \frac{1}{2})^2 =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$(2 + \frac{1}{2})^2 - \frac{1}{2} + \frac{1}{6} - 4^2 = (-\frac{121}{12}) = (-10\frac{1}{12}) \quad (\frac{1}{2} - (\frac{1}{3})^2) \times \frac{3}{5} + (\frac{1}{5} - \frac{1}{2})^2 = \frac{97}{300}$$

$$((\frac{1}{2})^2 - \frac{1}{3}) \times \frac{2}{5} + (\frac{3}{2} + \frac{2}{3})^2 = \frac{839}{180} = 4\frac{119}{180} \quad (\frac{1}{3} - (\frac{3}{2})^2) \times \frac{3}{4} - (\frac{2}{3} + \frac{1}{2})^2 = (-\frac{403}{144}) = (-2\frac{115}{144})$$

$$((\frac{1}{4})^2 + \frac{2}{3}) \times \frac{1}{5} + (\frac{1}{3} - \frac{1}{2})^2 = \frac{25}{144}$$

$$(5 - \frac{1}{5})^2 - \frac{1}{4} - \frac{3}{4} - 4^2 = \frac{151}{25} = 6\frac{1}{25}$$

$$(4 + \frac{3}{2})^2 + \frac{1}{3} + 3^2 \times \frac{3}{2} = \frac{529}{12} = 44\frac{1}{12}$$

$$(5 + \frac{1}{2})^2 + \frac{2}{3} \times \frac{1}{2} \times 2^2 = \frac{379}{12} = 31\frac{7}{12}$$

$$(\frac{3}{4} - \frac{3}{2})^2 + \frac{1}{3}(\frac{1}{3} + (\frac{1}{2})^2) = \frac{109}{144}$$

$$((\frac{1}{3})^2 + \frac{1}{3}) \times \frac{1}{2} + (\frac{3}{4} - \frac{1}{2})^2 = \frac{41}{144}$$